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B.Com. (Gen./Voc.) EXAMINATION
(For Batch 2017 & Onwards)
(Third Semester)

INDIAN ECONOMY

' BC-3.5 (i)

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting at
least one question but not more than two
questions from each Unit. Q. No. 10 is

compulsory.
Unitl

1. Explain the concept of a mixed economy. How
does it differ from a purely capitalist or

socialist economy ?
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What is a developing economy ? Identify some
common indicators used to classify economies

as developed or developing.

What are major issues India faces in its

cconomic development ?
Unit IT

Which sector has seen the most growth in
India in recent decades—agriculture, industry,
or services ? Discuss in the context of structural
shift.

List reasons why is the industrial sector
important for economic growth ? What role
does the industrial sector play in increasing

exports for India ?

What is social infrastructure 9 Provide few
examples. Why-is it important for growth of a
country ?
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10.

Unit 111

According to structuralist thinkers, how does

trade affect developing economies ?

What is import substitution and why is it

popular among developing countries ?

What are terms of trade ? How are terms of

trade calculated ? Why are these important ?
(Compulsory Question)

Write notes on the following :
(a) Developed Economy
(b) Major characteristics of Indian Economy

() Current share of agriculture in India's
GDP

() Favourable terms of trade

() Export led growth.
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